The Hamiltonian formalism of the DNLS equation with a nonvanished boundary value

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2006 J. Phys. A: Math. Gen. 395007
(http://iopscience.iop.org/0305-4470/39/18/016)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.104
The article was downloaded on 03/06/2010 at 04:26

Please note that terms and conditions apply.

# The Hamiltonian formalism of the DNLS equation with a nonvanished boundary value 

Hao Cai and Nian-Ning Huang<br>Department of Physics, Wuhan University, Hubei 430072, People's Republic of China<br>E-mail: hcai@vip.sina.com

Received 25 September 2005, in final form 22 February 2006
Published 19 April 2006
Online at stacks.iop.org/JPhysA/39/5007


#### Abstract

The Hamiltonian formalism of the derivative nonlinear Schrödinger equation with a nonvanishing boundary value is developed by the standard procedure. The action-angle variables are given explicitly. At the end of this work, a Galileo transformation is introduced to ensure that the conservative quantities obtained satisfy the Hamiltonian equation.


PACS numbers: $05.45 . \mathrm{Yv}, 42.65 . \mathrm{Tg}, 47.65 .+\mathrm{a}$

## 1. Introduction

From the general view point, the complete integrability of a nonlinear equation means that it describes a multi-periodic system, that is, a Hamiltonian system with action-angle variables as canonical conjugate variables [1]. In the case of a complex field equation, such as the nonlinear Schrödinger (NLS) equation, one can introduce field density and its canonical conjugate momentum density in usual sense. For a real equation, such as the KdV equation, to formulate the Hamiltonian formalism, an alternative form of Poisson bracket for real field densities at two points has been introduced [2,3]. Furthermore, the time dependence of angle variables derived from its Poisson bracket with action variables must be the same as that derived from the inverse scattering transform, which has not been paid much attention to.

The derivative nonlinear Schrödinger (DNLS) equation was proposed to describe nonlinear Alfvén waves in plasma [4, 5]. In the case of a vanishing boundary, it was solved by the inverse scattering transform (IST) [6], or other approaches [7-9], and its complete integrability was shown by Kundu in [10] through the r-s matrix formalism. In the other case of a nonvanishing boundary, the DNLS equation was discussed by some authors in terms of the usual spectral parameter $[11,12]$. The multi-value problem of square root appears, and then the Riemann surface has to be introduced, which leads to complexity and ambiguity in the derivation. As a result, the affin parameter is introduced to clarify the multi-value problem [13, 14, 17], based upon which the Hamiltonian formalism of the DNLS equation
with a nonvanishing boundary condition can be formulated naturally. We perform it in this work, and the effect of the linear coordinate transformation on the Hamiltonian theory is shown.

## 2. Poisson bracket

The DNLS equation with a nonvanishing boundary condition ( $\mathrm{DNLS}^{+}$equation) is generally expressed as [4, 5]

$$
\begin{equation*}
\mathrm{i} u_{t}-u_{x x}+\mathrm{i}\left(|u|^{2} u\right)_{x}=0, \tag{1}
\end{equation*}
$$

where $u$ is complex and $|u| \rightarrow \rho$ in the limit of $x \rightarrow \pm \infty$. Now, a particular form of the Poisson bracket is proposed:

$$
\begin{equation*}
\{u(x), \overline{u(y)}\}=\frac{1}{2}\left\{\partial_{x}-\partial_{y}\right\} \delta(x-y) . \tag{2}
\end{equation*}
$$

For two quantities $Q, R$, the Poisson bracket is
$\{Q, R\}=\iint \mathrm{d} x \mathrm{~d} y\left(\frac{\delta Q}{\delta u(x)} \frac{\delta R}{\delta \overline{u(y)}}\{u(x), \overline{u(y)}\}+\frac{\delta Q}{\delta \overline{u(x)}} \frac{\delta R}{\delta u(y)}\{\overline{u(x)}, u(y)\}\right)$.
Integrating by part, equation (3) becomes
$\{Q, R\}=-\frac{1}{2} \iint \mathrm{~d} x \mathrm{~d} y\left(\left\{\partial_{x} \frac{\delta Q}{\delta u(x)}\right\} \frac{\delta R}{\delta \overline{u(y)}}-\frac{\delta Q}{\delta u(x)}\left\{\partial_{x} \frac{\delta R}{\delta \overline{u(y)}}\right\}\right.$

$$
\begin{equation*}
\left.+\left\{\partial_{x} \frac{\delta Q}{\delta \overline{u(x)}}\right\} \frac{\delta R}{\delta u(y)}-\frac{\delta Q}{\delta \overline{u(x)}}\left\{\partial_{x} \frac{\delta R}{\delta u(y)}\right\}\right) \delta(x-y) \tag{4}
\end{equation*}
$$

Thus, the Hamiltonian equation is obtained as
$u_{t}(x)=\{H, u(x)\}, \quad H=\int \mathrm{d} x \mathcal{H}(x), \quad \mathcal{H}(x)=\frac{1}{2}|u|^{4}-\mathrm{i} u_{x} \bar{u}$.

## 3. Lax pair

The first of the Lax equations is

$$
\begin{equation*}
\partial_{x} F(x, t, \lambda)=L(x, t, \lambda) F(x, t, \lambda) \tag{6}
\end{equation*}
$$

where $\lambda$ is a spectral parameter. $L$ is a $2 \times 2$ matrix

$$
\begin{equation*}
L=-\mathrm{i} \lambda^{2} \sigma_{3}+\lambda U, \quad U=u \sigma_{+}+\bar{u} \sigma_{-} \tag{7}
\end{equation*}
$$

where

$$
\sigma_{+}=\left(\begin{array}{ll}
0 & 1  \tag{8}\\
0 & 0
\end{array}\right), \quad \sigma_{-}=\left(\begin{array}{ll}
0 & 0 \\
1 & 0
\end{array}\right)
$$

and $\zeta$ is an auxiliary parameter such that

$$
\begin{equation*}
\lambda=\frac{1}{2}\left(\zeta+\rho^{2} \zeta^{-1}\right), \quad \kappa=\frac{1}{2}\left(\zeta-\rho^{2} \zeta^{-1}\right) \tag{9}
\end{equation*}
$$

As the asymptotic free Jost solution is $E(x, \zeta)=\left(I+\rho \zeta \sigma_{2}\right) \mathrm{e}^{-\mathrm{i} \lambda \kappa x \sigma_{3}}$, we define the Jost solutions

$$
\begin{array}{ll}
\Psi(x, \zeta)=(\tilde{\psi}(x, \zeta), \psi(x, \zeta)) \rightarrow E(x, \zeta), & \text { as } \quad x \rightarrow \infty \\
\Phi(x, \zeta)=(\phi(x, \zeta), \tilde{\phi}(x, \zeta)) \rightarrow Q^{-1}(\alpha) E(x, \zeta), & \text { as } \quad x \rightarrow-\infty \tag{10}
\end{array}
$$

where $Q(\alpha)=\mathrm{e}^{\frac{1}{2} \alpha \sigma_{3}}$. Then the monodramy matrix $T(\lambda)$ is given by

$$
T(\zeta)=\Psi^{-1}(x, \zeta) \Phi(x, \zeta), \quad T(\zeta)=\left(\begin{array}{ll}
a(\zeta) & \tilde{b}(\zeta)  \tag{11}\\
b(\zeta) & \tilde{a}(\zeta)
\end{array}\right)
$$

From (10), $a(\zeta)$ can be analytically continued into the first and the third quadrants and $\tilde{a}(\zeta)$ into the second and the fourth quadrants. The continuous spectrum is composed of real $\zeta^{2}$, that is, composed of real $\zeta$ and imaginary $\zeta$.

Similar to the $\mathrm{NLS}^{+}$equation, there are several reduction transformation properties:

$$
\begin{array}{ll}
\tilde{\psi}(x, \bar{\zeta})=\sigma_{1} \psi(x, \zeta), & \tilde{\phi}(x, \bar{\zeta})=\sigma_{1} \phi(x, \zeta), \\
\tilde{a}(\bar{\zeta})=a(\zeta), & \tilde{b}(\bar{\zeta})=b(\zeta), \tag{13}
\end{array}
$$

and, under the transformation $\zeta \rightarrow \rho \zeta^{-1}$,

$$
\begin{array}{ll}
\tilde{\psi}\left(x, \rho^{2} \zeta^{-1}\right)=\mathrm{i} \rho^{-1} \zeta \psi(x, \zeta), & \tilde{\phi}\left(x, \rho^{2} \zeta^{-1}\right)=-\mathrm{i} \rho^{-1} \zeta \phi(x, \zeta) \\
\tilde{a}\left(\rho^{2} \zeta^{-1}\right)=a(\zeta), & \tilde{b}\left(\rho^{2} \zeta^{-1}\right)=-b(\zeta) \tag{15}
\end{array}
$$

in which the second ones of (13) and (15) require $\lambda \kappa$ as real.
And there are some reduction properties of only the $\mathrm{DNLS}^{+}$equation; for example, since

$$
\begin{equation*}
L(-\zeta)=\sigma_{3} L(\zeta) \sigma_{3} \tag{16}
\end{equation*}
$$

we have

$$
\begin{equation*}
T(-\zeta)=\sigma_{3} T(\zeta) \sigma_{3} \tag{17}
\end{equation*}
$$

that is,

$$
\begin{equation*}
a(-\zeta)=a(\zeta), \quad b(-\zeta)=-b(\zeta) \tag{18}
\end{equation*}
$$

Since $a(\lambda)$ is assumed to have $N$ simple poles in the first and third quadrants, $a(\lambda)$ can be expressed as [1]

$$
\begin{equation*}
a(\lambda)=\prod_{n=1}^{N} \frac{\zeta-\zeta_{n}}{\zeta-\bar{\zeta}_{n}} \frac{\bar{\zeta}_{n}}{\zeta_{n}} \exp \left\{\frac{\zeta}{\mathrm{i} 2 \pi} \int_{\Gamma} \frac{\ln \left|a\left(\zeta^{\prime}\right)\right|^{2}}{\left(\zeta^{\prime}-\zeta\right) \zeta^{\prime}}\right\} \tag{19}
\end{equation*}
$$

where the integral contour $\Gamma=(0,+\infty) \bigcup(0,-\infty) \bigcup(+\mathrm{i} \infty, 0) \bigcup(-\mathrm{i} \infty, 0)$ along the real and imaginary axes.

## 4. Poisson bracket for the monodramy matrix

Since $\partial_{x} \operatorname{det} \Psi(x, \zeta)=0$ and $\partial_{x} \operatorname{det} \Phi(x, \zeta)=0$, we have

$$
\begin{equation*}
\operatorname{det} \Psi(x, \zeta)=\operatorname{det} \Phi(x, \zeta)=\operatorname{det} E(x, \zeta)=1-\rho^{2} \zeta^{-2} \tag{20}
\end{equation*}
$$

and thus,

$$
\begin{align*}
& \operatorname{det} T(\zeta)=1, \quad a(\zeta) \tilde{a}(\zeta)-b(\zeta) \tilde{b}(\zeta)=1  \tag{21}\\
& T^{-1}(\zeta)=\left(\begin{array}{cc}
\tilde{a}(\zeta) & -\tilde{b}(\zeta) \\
-b(\zeta) & a(\zeta)
\end{array}\right) \tag{22}
\end{align*}
$$

and so on.
Introducing the usual direct product $\otimes$, the Poisson bracket of the monodramy matrix is defined as

$$
\begin{equation*}
\left\{T(\zeta) \stackrel{\otimes}{,} T^{-1}\left(\zeta^{\prime}\right)\right\}_{i j, k l}=\left\{T(\zeta)_{i j}, T^{-1}\left(\zeta^{\prime}\right)_{k l}\right\} \tag{23}
\end{equation*}
$$

Substituting equations (11)-(15), the explicit expression of equation (23) is
$\left\{T(\zeta) \stackrel{\otimes}{,} T^{-1}\left(\zeta^{\prime}\right)\right\}=-\frac{1}{2} \int \mathrm{~d} x \Psi^{-1}(x, \zeta) \Phi^{-1}\left(x, \zeta^{\prime}\right) R \Phi(x, \zeta) \Psi\left(x, \zeta^{\prime}\right)$,
where

$$
\begin{align*}
R=-\left(\mathrm{i} 2 \lambda^{3} \sigma_{+}\right. & \left.-\lambda^{2} \bar{u} \sigma_{3}\right) \otimes\left(\lambda^{\prime} \sigma_{-}\right)-\left(\lambda \sigma_{+}\right) \otimes\left(\mathrm{i} 2 \lambda^{\prime 3} \sigma_{-}+\lambda^{\prime 2} u \sigma_{3}\right) \\
& +\left(\mathrm{i} 2 \lambda^{3} \sigma_{-}+\lambda^{2} u \sigma_{3}\right) \otimes\left(\lambda^{\prime} \sigma_{+}\right)+\left(\lambda \sigma_{-}\right) \otimes\left(\mathrm{i} 2 \lambda^{\prime 3} \sigma_{+}-\lambda^{\prime 2} \bar{u} \sigma_{3}\right) . \tag{25}
\end{align*}
$$

Equation (25) is expressed in a matrix with row $\left\{i^{\prime} l^{\prime}\right\}$ and column $\left\{j^{\prime} m^{\prime}\right\}$,

$$
-\left(\begin{array}{cccc}
0 & -\lambda^{2} \lambda^{\prime} u & \lambda \lambda^{\prime 2} u & 0  \tag{26}\\
-\lambda^{2} \lambda^{\prime} \bar{u} & 0 & \mathrm{i} 2 \lambda^{3} \lambda^{\prime}+\mathrm{i} 2 \lambda \lambda^{\prime 3} & -\lambda \lambda^{\prime 2} u \\
\lambda \lambda^{2} \bar{u} & -\mathrm{i} 2 \lambda^{3} \lambda^{\prime}-\mathrm{i} 2 \lambda \lambda^{\prime 3} & 0 & \lambda^{2} \lambda^{\prime} u \\
0 & -\lambda \lambda^{\prime 2} \bar{u} & \lambda^{2} \lambda^{\prime} \bar{u} & 0
\end{array}\right) .
$$

## 5. Another direct product for Poisson bracket

In the usual method to formulate the Hamiltonian theory, one considers [1]

$$
\begin{equation*}
\partial_{x}\left(\left\{\Psi^{-1}(\zeta) \Psi\left(\zeta^{\prime}\right)\right\} \otimes^{\prime}\left\{\Phi^{-1}\left(\zeta^{\prime}\right) \Phi(\zeta)\right\}\right) \tag{27}
\end{equation*}
$$

where another direct product $\otimes^{\prime}$ is introduced,

$$
\begin{equation*}
A_{i m} B_{l j}=\left(A \otimes^{\prime} B\right)_{i l, j m} \tag{28}
\end{equation*}
$$

From the first Lax equation, equation (27) becomes

$$
\begin{align*}
\Psi^{-1}(\zeta)\left\{L\left(\zeta^{\prime}\right)\right. & -L(\zeta)\} \Psi\left(\zeta^{\prime}\right) \otimes^{\prime} \Phi^{-1}\left(\zeta^{\prime}\right) \Phi(\zeta) \\
& +\Psi^{-1}(\zeta) \Psi\left(\zeta^{\prime}\right) \otimes^{\prime} \Phi^{-1}\left(\zeta^{\prime}\right)\left\{L(\zeta)-L\left(\zeta^{\prime}\right)\right\} \Phi(\zeta) \tag{29}
\end{align*}
$$

that is,

$$
\begin{equation*}
\Psi^{-1}(x, \zeta) \Phi^{-1}\left(x, \zeta^{\prime}\right) W_{0} \Phi(x, \zeta) \Psi\left(x, \zeta^{\prime}\right) \tag{30}
\end{equation*}
$$

where

$$
\begin{gather*}
W_{0}=\mathrm{i}\left(\lambda^{2}-\lambda^{\prime 2}\right)\left\{\sigma_{3} \otimes^{\prime} I-I \otimes^{\prime} \sigma_{3}\right\}-\left(\lambda-\lambda^{\prime}\right) u\left\{\sigma_{+} \otimes^{\prime} I-I \otimes^{\prime} \sigma_{+}\right\} \\
-\left(\lambda-\lambda^{\prime}\right) \bar{u}\left\{\sigma_{-} \otimes^{\prime} I-I \otimes^{\prime} \sigma_{-}\right\} . \tag{31}
\end{gather*}
$$

Equation (31) may be written in the matrix form explicitly as

$$
\left(\begin{array}{cccc}
0 & -\left(\lambda-\lambda^{\prime}\right) u & \left(\lambda-\lambda^{\prime}\right) u & 0  \tag{32}\\
\left(\lambda-\lambda^{\prime}\right) \bar{u} & 0 & \mathrm{i} 2\left(\lambda^{2}-\lambda^{\prime 2}\right) & -\left(\lambda-\lambda^{\prime}\right) u \\
-\left(\lambda-\lambda^{\prime}\right) \bar{u} & -\mathrm{i} 2\left(\lambda^{2}-\lambda^{\prime 2}\right) & 0 & \left(\lambda-\lambda^{\prime}\right) u \\
0 & \left(\lambda-\lambda^{\prime}\right) \bar{u} & -\left(\lambda-\lambda^{\prime}\right) \bar{u} & 0
\end{array}\right) .
$$

It is obvious that equation (32) is not proportional to equation (26), which means that another expression is necessary to construct the Hamiltonian formalism.

Considering

$$
\begin{equation*}
\partial_{x}\left(\left\{\Psi^{-1}(\zeta) \sigma_{3} \Psi\left(\zeta^{\prime}\right)\right\} \otimes^{\prime}\left\{\Phi^{-1}\left(\zeta^{\prime}\right) \sigma_{3} \Phi(\zeta)\right\}\right) \tag{33}
\end{equation*}
$$

it is equal to

$$
\begin{align*}
\Psi^{-1}(\zeta)\left\{\sigma_{3} L\left(\zeta^{\prime}\right)\right. & \left.-L(\zeta) \sigma_{3}\right\} \Psi\left(\zeta^{\prime}\right) \otimes^{\prime} \Phi^{-1}\left(\zeta^{\prime}\right) \sigma_{3} \Phi(\zeta) \\
& +\Psi^{-1}(\zeta) \sigma_{3} \Psi\left(\zeta^{\prime}\right) \otimes^{\prime} \Phi^{-1}\left(\zeta^{\prime}\right)\left\{\sigma_{3} L(\zeta)-L\left(\zeta^{\prime}\right) \sigma_{3}\right\} \Phi(\zeta) \tag{34}
\end{align*}
$$

also from the first Lax equation. Similar to (30), (34) may be written in the form

$$
\begin{equation*}
\Psi^{-1}(x, \zeta) \Phi^{-1}\left(x, \zeta^{\prime}\right) W_{3} \Phi(x, \zeta) \Psi\left(x, \zeta^{\prime}\right) \tag{35}
\end{equation*}
$$

where

$$
\begin{gather*}
W_{3}=\mathrm{i}\left(\lambda^{2}-\lambda^{\prime 2}\right)\left\{I \otimes^{\prime} \sigma_{3}-\sigma_{3} \otimes^{\prime} I\right\}+\left(\lambda+\lambda^{\prime}\right) u\left\{\sigma_{+} \otimes^{\prime} \sigma_{3}+\sigma_{3} \otimes^{\prime} \sigma_{+}\right\}  \tag{36}\\
-\left(\lambda+\lambda^{\prime}\right) \bar{u}\left\{\sigma_{-} \otimes^{\prime} \sigma_{3}+\sigma_{3} \otimes^{\prime} \sigma_{-}\right\},
\end{gather*}
$$

explicitly

$$
\left(\begin{array}{cccc}
0 & \left(\lambda+\lambda^{\prime}\right) u & \left(\lambda+\lambda^{\prime}\right) u & 0  \tag{37}\\
-\left(\lambda+\lambda^{\prime}\right) \bar{u} & 0 & -\mathrm{i} 2\left(\lambda^{2}-\lambda^{\prime 2}\right) & -\left(\lambda+\lambda^{\prime}\right) u \\
-\left(\lambda+\lambda^{\prime}\right) \bar{u} & \mathrm{i} 2\left(\lambda^{2}-\lambda^{\prime 2}\right) & 0 & -\left(\lambda+\lambda^{\prime}\right) u \\
0 & \left(\lambda+\lambda^{\prime}\right) \bar{u} & \left(\lambda+\lambda^{\prime}\right) \bar{u} & 0 .
\end{array}\right) .
$$

Defining

$$
\begin{equation*}
\left.\Delta_{\alpha} \equiv \lim _{L \rightarrow \infty} \Psi^{-1}(x, \zeta) \sigma_{\alpha} \Psi\left(x, \zeta^{\prime}\right) \otimes^{\prime} \Phi^{-1}\left(x, \zeta^{\prime}\right) \sigma_{\alpha} \Phi(x, \zeta)\right|_{x=-L} ^{x=L} \tag{38}
\end{equation*}
$$

there should be

$$
\begin{equation*}
\left\{T(\zeta) \stackrel{\otimes}{\otimes} T^{-1}\left(\zeta^{\prime}\right)\right\}=f_{0} \Delta_{0}+f_{3} \Delta_{3} \tag{39}
\end{equation*}
$$

where two constant coefficients $f_{0}$ and $f_{3}$ are introduced, that is, $f_{0}(32)+f_{3}(37)=(26)$. A comparison between the corresponding elements of matrices in two sides yields
$-\left(\lambda-\lambda^{\prime}\right) f_{0}+\left(\lambda+\lambda^{\prime}\right) f_{3}=\lambda^{2} \lambda^{\prime}, \quad\left(\lambda-\lambda^{\prime}\right) f_{0}+\left(\lambda+\lambda^{\prime}\right) f_{3}=-\lambda \lambda^{\prime 2}$.
It is found that

$$
\begin{equation*}
f_{0}=-\frac{1}{2} \lambda \lambda^{\prime} \frac{\lambda+\lambda^{\prime}}{\lambda-\lambda^{\prime}}, \quad f_{3}=\frac{1}{2} \lambda \lambda^{\prime} \frac{\lambda-\lambda^{\prime}}{\lambda+\lambda^{\prime}} . \tag{41}
\end{equation*}
$$

## 6. Explicit expression of Poisson bracket of the monodramy matrix

From (39)-(41), the Poisson bracket $\left\{T(\lambda) \stackrel{\otimes}{,} T^{-1}\left(\lambda^{\prime}\right)\right\}$, i.e.

$$
\left(\begin{array}{cccc}
\left\{a, \tilde{a}^{\prime}\right\} & -\left\{a, \tilde{b}^{\prime}\right\} & \left\{\tilde{b}, \tilde{a}^{\prime}\right\} & -\left\{\tilde{b}, \tilde{b}^{\prime}\right\}  \tag{42}\\
-\left\{a, b^{\prime}\right\} & \left\{a, a^{\prime}\right\} & -\left\{\tilde{b}, b^{\prime}\right\} & \left\{\tilde{b}, a^{\prime}\right\} \\
\left\{b, \tilde{a}^{\prime}\right\} & -\left\{b, \tilde{b}^{\prime}\right\} & \left\{\tilde{a}, \tilde{a}^{\prime}\right\} & -\left\{\tilde{a}, \tilde{b}^{\prime}\right\} \\
-\left\{b, b^{\prime}\right\} & \left\{b, a^{\prime}\right\} & -\left\{\tilde{a}, b^{\prime}\right\} & \left\{\tilde{a}, a^{\prime}\right\}
\end{array}\right)
$$

is equal to the matrix $f_{0} \Delta_{0}+f_{3} \Delta_{3}$, for example,

$$
\begin{equation*}
\left\{a, b^{\prime}\right\}=\frac{1}{2} \lambda \lambda^{\prime}\left\{\frac{\lambda \lambda^{\prime}-\rho^{2}}{\kappa \kappa^{\prime}} \frac{\lambda+\lambda^{\prime}}{\lambda-\lambda^{\prime}+\mathrm{i} 0}+\frac{\lambda \lambda^{\prime}+\rho^{2}}{\kappa \kappa^{\prime}} \frac{\lambda-\lambda^{\prime}}{\lambda+\lambda^{\prime}+\mathrm{i} 0}\right\} a b^{\prime} \tag{43}
\end{equation*}
$$

and

$$
\begin{equation*}
\left\{\tilde{a}, b^{\prime}\right\}=-\frac{1}{2} \lambda \lambda^{\prime}\left\{\frac{\lambda \lambda^{\prime}-\rho^{2}}{\kappa \kappa^{\prime}} \frac{\lambda+\lambda^{\prime}}{\lambda-\lambda^{\prime}-\mathrm{i} 0}+\frac{\lambda \lambda^{\prime}+\rho^{2}}{\kappa \kappa^{\prime}} \frac{\lambda-\lambda^{\prime}}{\lambda+\lambda^{\prime}-\mathrm{i} 0}\right\} a b^{\prime} . \tag{44}
\end{equation*}
$$

As $\zeta$ is pure imaginary, i.e. $\zeta=\mathrm{i} \eta$, noting that $\delta(\mathrm{i} \eta)=\delta(\eta)$, we also have the same results with (43) and (44).

## 7. Action-angle variables in a continuous spectrum

From the inverse scattering transform, $a(\zeta)$ and $\tilde{a}(\zeta)$ are independent of $t$, and $b(\zeta)$ and $\tilde{b}(\zeta)$ depend on $t$. And noting the reduction transformation properties (15) and (18), we may restrict ourselves to consider $\zeta, \zeta^{\prime}>\rho$. Thus, from (43) and (44), there is

$$
\begin{equation*}
\left\{|a(\zeta)|^{2}, b\left(\zeta^{\prime}\right)\right\}=-\mathrm{i} 2 \lambda^{3} \pi|a(\zeta)|^{2} b(\zeta)\left(1-\rho^{2} \zeta^{-2}\right)^{-1} \delta\left(\zeta-\zeta^{\prime}\right) \tag{45}
\end{equation*}
$$

The angle variable $Q(\zeta)$ and action variable $P(\zeta)$ are chosen, respectively, to be

$$
\begin{equation*}
Q(\zeta)=\arg b(\zeta)=\frac{1}{2 \mathrm{i}} \ln \frac{b(\zeta)}{\tilde{b}(\zeta)}, \quad P(\zeta)=F\left(|a(\zeta)|^{2}\right) \tag{46}
\end{equation*}
$$

such that

$$
\begin{equation*}
\left\{P(\zeta), Q\left(\zeta^{\prime}\right)\right\}=-\delta\left(\zeta-\zeta^{\prime}\right) \tag{47}
\end{equation*}
$$

where the unknown function $F$ is to be determined by (45).
Substituting (45) into (47), it is easy to find

$$
\begin{equation*}
F^{\prime}\left(|a(\zeta)|^{2}\right) 2 \lambda^{3} \pi|a(\zeta)|^{2}\left(1-\rho^{2} \zeta^{-2}\right)^{-1}=1 \tag{48}
\end{equation*}
$$

Thus, the action variable $P(\zeta)$ is chosen as

$$
\begin{equation*}
P(\zeta)=F\left(|a(\zeta)|^{2}\right)=\frac{1-\rho^{2} \zeta^{-2}}{2 \lambda^{3} \pi} \ln |a(\zeta)|^{2} \tag{49}
\end{equation*}
$$

## 8. Action-angle variable in a discrete spectrum

From the inverse scattering transform we know that $\lambda_{n}$, zero of $a(\lambda)$, is independent of time and $b_{n}$ is dependent on time periodically. Hence, we need the Poisson bracket of $\zeta_{m}$ with $b_{n}$, and of them with $a(\zeta)$ and $b(\zeta)$. From (19) and (45), we obtain

$$
\begin{align*}
& \left\{\ln \check{a}(\zeta), b\left(\zeta^{\prime}\right)\right\}+\sum_{m}\left(\frac{\left\{\bar{\zeta}_{m}, b\left(\zeta^{\prime}\right)\right\}}{\zeta-\bar{\zeta}_{m}}-\frac{\left\{\zeta_{m}, b\left(\zeta^{\prime}\right)\right\}}{\zeta-\zeta_{m}}\right) \\
& \quad=b\left(\zeta^{\prime}\right)\left\{\lambda \lambda^{\prime} \frac{\lambda+\lambda^{\prime}}{2} \frac{\lambda \lambda^{\prime}-\rho^{2}}{\kappa \kappa^{\prime}} \frac{1}{\lambda-\lambda^{\prime}+\mathrm{i} 0}+\lambda \lambda^{\prime} \frac{\lambda-\lambda^{\prime}}{2} \frac{\lambda \lambda^{\prime}+\rho^{2}}{\kappa \kappa^{\prime}} \frac{1}{\lambda+\lambda^{\prime}+\mathrm{i} 0}\right\} . \tag{50}
\end{align*}
$$

If $\zeta=\zeta_{m}$, then $\lambda_{m}=\operatorname{Re} \zeta_{m}$ is real, $\lambda_{m}-\lambda^{\prime}+\mathrm{i} 0 \neq 0$ and $\lambda_{m}+\lambda^{\prime}+\mathrm{i} 0 \neq 0$ since $\lambda^{\prime}$ is real. The right-hand side indicates that $\lambda_{m}$ is not a pole, that is, $\left\{\zeta_{m}, b\left(\zeta^{\prime}\right)\right\}=0$. Similarly, we have $\left\{\bar{\zeta}_{m}, b\left(\zeta^{\prime}\right)\right\}=0$. Then by the standard procedure, similar to (50), we have

$$
\begin{align*}
\left\{\ln \check{a}(\zeta), b_{n}\right\} & +\sum_{m}\left(\frac{\left\{\bar{\zeta}_{m}, b_{n}\right\}}{\zeta-\bar{\zeta}_{m}}-\frac{\left\{\zeta_{m}, b_{n}\right\}}{\zeta-\zeta_{m}}\right) \\
& =b_{n}\left\{\lambda \lambda_{n} \frac{\lambda+\lambda_{n}}{2} \frac{\lambda \lambda_{n}-\rho^{2}}{\kappa \kappa_{n}} \frac{1}{\lambda-\lambda_{n}}+\lambda \lambda_{n} \frac{\lambda-\lambda_{n}}{2} \frac{\lambda \lambda_{n}+\rho^{2}}{\kappa \kappa_{n}} \frac{1}{\lambda+\lambda_{n}}\right\} \tag{51}
\end{align*}
$$

The right-hand side has a pole at $\zeta=\zeta_{n}$; noting that $\lambda-\lambda_{n}=\frac{1}{2}\left(\zeta-\zeta_{n}\right)\left(1-\rho^{2} \zeta^{-1} \zeta_{n}^{-1}\right)$, we obtain

$$
\begin{equation*}
\left\{\zeta_{m}, b_{n}\right\}=-2 \lambda_{n}^{3}\left(1-\rho^{2} \zeta_{n}^{2}\right)^{-1} b_{n} \delta_{m n} \tag{52}
\end{equation*}
$$

This result is similar to that of the Hamiltonian theory for other nonlinear equations. As $\bar{\zeta}_{n} \neq \rho^{2} \zeta_{n}^{-1}$ for the DNLS ${ }^{+}$equation, it is important that $\zeta-\bar{\zeta}_{n}$ is not a factor of $\lambda-\lambda_{n}$, that is

$$
\begin{equation*}
\left\{\bar{\zeta}_{m}, b_{n}\right\}=0 . \tag{53}
\end{equation*}
$$

Furthermore, we also have $\left\{a(\zeta), \zeta_{m}\right\}=0$ and $\left\{\zeta_{n}, \zeta_{m}\right\}=0$.

In the discrete spectrum case, the angle variable is

$$
\begin{equation*}
Q_{n}=\ln b_{n} \tag{54}
\end{equation*}
$$

and the action variable is assumed to be $P_{m}=G\left(\zeta_{m}\right)$, where $G$ is an unknown function. Their Poisson bracket must be $\left\{P_{m}, Q_{n}\right\}=-\delta_{m n}$, and then, noting (52) and (54), we have

$$
\begin{equation*}
G^{\prime}\left(\zeta_{m}\right) 2 \lambda_{m}^{3}\left(1-\rho^{2} \zeta_{m}^{-2}\right)^{-1}=1 \tag{55}
\end{equation*}
$$

We thus obtain

$$
\begin{equation*}
P_{m}=G\left(\zeta_{m}\right)=-\frac{1}{2 \lambda_{m}^{2}} \tag{56}
\end{equation*}
$$

## 9. Conservative quantities

Since the first one of the Lax pair of the $\mathrm{DNLS}^{+}$equation is the same as that of the $\mathrm{NLS}^{+}$ equation, the conservative quantities are the same. We have

$$
\begin{equation*}
\ln a(\zeta)=\sum_{n} \ln \left(\frac{\zeta-\zeta_{n}}{\zeta-\bar{\zeta}_{n}} \frac{\bar{\zeta}_{n}}{\zeta_{n}}\right)-\frac{\zeta}{\mathrm{i} 2 \pi} \int_{\Gamma} \mathrm{d} \zeta^{\prime} \frac{\ln \left|a\left(\zeta^{\prime}\right)\right|^{2}}{\left(\zeta^{\prime}-\zeta\right) \zeta^{\prime}} \tag{57}
\end{equation*}
$$

Since $a(\zeta)$ is a constant in time, all terms in the expansion of $|\zeta| \rightarrow \infty$ are constant, for example,

$$
\begin{align*}
& I_{0}=\sum_{n} 2 \ln \frac{\bar{\zeta}_{n}}{\zeta_{n}}+\frac{1}{\mathrm{i} \pi} \int_{\Gamma_{+}} \mathrm{d} \zeta^{\prime} \frac{1}{\zeta^{\prime}} \ln \left|a\left(\zeta^{\prime}\right)\right|^{2}  \tag{58}\\
& I_{2}=\sum_{m}\left(\bar{\zeta}_{m}^{2}-\zeta_{m}^{2}\right)+\frac{1}{\mathrm{i} \pi} \int_{\Gamma_{+}} \mathrm{d} \zeta^{\prime} \zeta^{\prime} \ln \left|a\left(\zeta^{\prime}\right)\right|^{2} \tag{59}
\end{align*}
$$

etc, where we have taken account of $|a(\zeta)|^{2}=|a(-\zeta)|^{2}$ and the condition that $-\zeta_{m}$ is a zero of $a(\zeta)$ as long as $\zeta_{m}$ is a zero of $a(\zeta)$, see (19). The Hamiltonian is assumed to be
$H=\mathrm{i} I_{2}-\mathrm{i} \eta I_{0}=\sum_{m} \mathrm{i}\left[\left(\bar{\zeta}_{m}^{2}-\zeta_{m}^{2}\right)-2 \eta\left(\ln \bar{\zeta}_{m}-\ln \zeta_{n}\right)\right]+\frac{1}{\pi} \int_{\Gamma_{+}} \mathrm{d} \zeta^{\prime}\left(\zeta^{\prime}-\eta \frac{1}{\zeta^{\prime}}\right) \ln \left|a\left(\zeta^{\prime}\right)\right|^{2}$,
where the contour $\Gamma_{+}$is along the first quadrant, and $\eta$ is a real constant we shall determine. The integral domain $(0, \rho)$ can be transformed to $(\rho, \infty)$ by $\zeta^{\prime} \rightarrow \rho^{2} \zeta^{\prime-1}$; the integral part is now given by

$$
\begin{equation*}
H_{\mathrm{int}}=\frac{1}{\mathrm{i} \pi} \int_{\Gamma_{+} \cup\left\{\left|\zeta^{\prime}\right|>\rho\right\}} \mathrm{d} \zeta^{\prime}\left\{\left(\zeta^{\prime}+\rho^{4} \zeta^{\prime-3}\right)-2 \eta \zeta^{\prime-1}\right\} \ln \left|a\left(\zeta^{\prime}\right)\right|^{2} \tag{61}
\end{equation*}
$$

From (45), $H_{\text {int }}$ must involve a factor $\left(1-\rho^{2} \zeta^{\prime-2}\right)$; it is easily seen that if and only if $\eta=\rho^{2}$, the factor in bracket can be factored as

$$
\begin{equation*}
\left(\zeta^{\prime}+\rho^{4} \zeta^{\prime-3}\right)-2 \eta \zeta^{\prime-1}=\left(\zeta^{\prime}-\rho^{2} \zeta^{\prime-1}\right)\left(1-\rho^{2} \zeta^{\prime-2}\right) \tag{62}
\end{equation*}
$$

In this choice, we obtain from (45)

$$
\begin{equation*}
\left\{H_{\mathrm{int}}, b(\zeta)\right\}=-\mathrm{i} 4 \lambda^{3} \kappa b(\zeta) \tag{63}
\end{equation*}
$$

From equations (52) and (53), we have

$$
\begin{equation*}
\left\{H_{\mathrm{dis}}, b_{n}\right\}=-\mathrm{i} 4 \lambda_{n}^{3} \kappa_{n} b_{n}, \tag{64}
\end{equation*}
$$

where $H_{\text {dis }}$ is the summation part. From equations (63) and (64), there are

$$
\begin{equation*}
b(t, \zeta)=b(0, \zeta) \mathrm{e}^{\mathrm{i} 4 \lambda^{3} \kappa t}, \quad b_{n}(t)=b_{n}(0) \mathrm{e}^{\mathrm{i} 4 \lambda_{n}^{3} \kappa_{n} t} \tag{65}
\end{equation*}
$$

In such a choice, the second one of the Lax pair should be

$$
\begin{equation*}
M=-\mathrm{i} 2 \lambda^{4} \sigma_{3}+2 \lambda^{3} U-\mathrm{i} \lambda^{2}\left(U^{2}-\rho^{2}\right) \sigma_{3}+\lambda U\left(U^{2}-\rho^{2}\right)-\mathrm{i} \lambda U_{x} \sigma_{3}, \tag{66}
\end{equation*}
$$

which is different from the usual form. As a result, the compatibility condition gives

$$
\begin{equation*}
\mathrm{i} u_{t}-u_{x x}+\mathrm{i}\left[\left(|u|^{2}-\rho^{2}\right) u\right]_{x}=0 \tag{67}
\end{equation*}
$$

which differs from the usual form of the DNLS ${ }^{+}$equation (1) by a Galileo transformation

$$
\begin{equation*}
t^{\prime}=t, \quad x^{\prime}=x-\rho^{2} t \tag{68}
\end{equation*}
$$

Correspondingly, different from equation (5), here the Hamiltonian density is chosen as

$$
\begin{equation*}
\mathcal{H}(x)=\frac{1}{2}\left(|u|^{2}-\rho^{2}\right)^{2}-\mathrm{i} u_{x} \bar{u} \tag{69}
\end{equation*}
$$

Thus, we formulate the complete Hamiltonian theory for the DNLS equation with nonvanishing boundary conditions. At the end, the linear Galileo transformation is introduced to take the time dependence of angle variables derived from its Poisson bracket with the Hamiltonian compatible with that derived from the second Lax equation.

As $u$ represents the complex transverse magnetic field, the DNLS equation with nonvanishing boundary conditions describes magnetohydrodynamic waves in plasma propagating in an arbitrary angle to the ambient magnetic field, while the vanishing boundary conditions can only deal with waves exactly parallel to the ambient field [4, 5, 13-16]. In the case of a vanishing boundary, the DNLS equation was solved by the inverse scattering transform (IST) [6], or other approaches [7-9]. However, the DNLS equation with a nonvanishing boundary has never been solved exactly though some works have tried to do it [9, 11-14, 17]. Being one of a few well-known unsolved completely integrable nonlinear evolution equations, it is worth trying our best to find the final solution for the DNLS ${ }^{+}$equation. The success of formulating the Hamiltonian theory should be greatly beneficial to the procedure of solving the DNLS equation.

## References

[1] Faddeev L D and Takhtajan L A 1987 Hamiltonian Methods in the Theory of Solitons (Berlin: Springer)
[2] Zakharov V E and Sabat A B 1972 Sov. Phys._JETP 3462
[3] Zakharov V E and Faddeev L D 1971 Funkz. Anal. Priloz. 518 (Russian)
[4] Rogister A 1971 Phys. Fluids 142733
[5] Ruderman M S 2002 J. Plasma Phys. 67271
[6] Kaup D J and Newell A C 1978 J. Math. Phys. 19798
[7] Nakamura A and Chen H H 1980 J. Phys. Soc. Japan 49813
[8] Huang N N and Chen Z Y 1990 J. Phys. A: Math. Gen. 23439
[9] Steudel H 2003 J. Phys. A: Math. Gen. 361931
[10] Kundu A 1988 J. Phys. A: Math. Gen. 21945
[11] Kawata T and Inoue H 1978 J. Phys. Soc. Japan 441968
[12] Kawata T, Kobayashi N and Inoue H 1979 J. Phys. Soc. Japan 461008
[13] MjØlhus E 1989 Phys. Scr. 40227
[14] MjØlhus E and Hada T 1997 Nonlinear Waves and Chaos in Space Plasmas ed T Hada and H Matsumoto (Tokyo: Terrapub) p 121
[15] MjØlhus E 1976 J. Plasma Phys. 16321
[16] Mio K, Ogino T, Minami K and Takeda S 1976 J. Phys. Soc. Japan 41265
[17] Chen X J and Lam Wa Kun 2004 Phys. Rev. E 69066604

